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test2.log

list
Vee 1 0 DC 15.
Vee 6 0 DC -15.

Mon May 05 00:54:39 2003 1

bf= 50, Dbr= 1, is= 100,E-18 nf= 1, nr=1, i
c2« 0. ne= 1,5 rb= 0. rbme 0. re= 0. rec= 0,
5 mic= 0.33 mje= 0.33 mis= 0. vice= 0.75 vie=
ptfw 0, tf= 0. tr= 0, xtf= 0, xtb= 0. =xti=
bf= 50. br= 1. 4is= 100.E-18 nf= 1, nr= 1. i
c2= 0. ne= 1.5 rbe 0, rbmw 0, re= 0. re= 0.
5 mjcw 0.33 mje= 0.33 mjs= 0. wvjc= 0.75 vje=
ptf= 0. tf= 0. tr=0. =xtf= 0. xtb= 0. xti=
v(3) v(4) v(5) v(6) v(7)
0.73538 44.573p -13.009 ~15. -13.78

vin 4 0 GENERATOR

Rb 4 0 15.K

Relb 1 2 €2.K

Rela 2 3 750.

Recl 5 6 10.K

Rc2 1 8 10.X

Re2 7 6 1.K

cL 1 2 4.7ua

C2 8 9 470.n

QL 5 4 3 3 p area= 1.

Q2 8 5 7 7 n area= ]},
.model n npn ( kf= 0. af= 1.
sc= 0, c4= 0. nc= 2. isem= 0.
cjcm= 0. cje= 0. cjs= 0., fc= 0.
0.75 wvis= 0.75 xcjo= 1. itf= 0,
3. eg= 1.11)

*+{)

.model p pnp ( kf= 0. afe 1.
sc= 0, c4= 0. nec= 2. ise= 0.
cjc= 0. cie= 0. cis= 0. fec= 0,
0.75 wvis= 0.75 xcjec= 1. itf= 0,
3. eg= 1.11)

*+ ()

pr op v nodes

op

L4 v{l) v(2)

v(8) v{9}

300.15 15, 0.90588

8 3.1148 0.

pr op vbe g*

op

* vbe(Q1) vbe (Q2)
300.15 -0.73538 0.77868

pr op ic g*

op

* ic(Ql) ic(Q2)
300.15 -222.87Tu 0.0011885

pr ac vdb 4 8

ac lk

#Freq vdb (4) vdb (8)
1.K -7.7592n 39.212

ac 100

#Freq vdb (4) vdb (8)
100. -7.49n 38.582
del n p

b

.model p pnp bf=100

.model n npn bf=100

op

+ ic Q1) ic(Q2)
300,15 -225.07u 0.0013236
aclk

#Freq vdb(4) vdb (8)
1.K -6.7847n 40.121
del n p

b

.model n npn bf=200

.model p pnp bf=200

op

# ic(Q1) ic(Q2)
300.15 -226.19u 0.0014018
ac

#Freq vdb(4) vdb (8)
1.K -6.2901n 40.606

del np
b

.model p pnp bf=100 is=le-15
.model n npn bf=100 is=le-15

op

L] ic(Ql)
300.15 -226.01u

pr op v nodes

op

# v(l)

v{8) v(2)

300.15 15,

1 1.1531 0.

ac

#Freq vdb (4)
1.K -6.7852n
cdl n p

del np

b

ie(Q2)
0.0013847

v{2) v{(3) v(4)

0.84739 0.67619 22,601p

vdb (8)
40.132

.model n npn bf=100 is=l0e-15
.model p pnp bf=100 is=1l0e-15

op
# v(l)
v(8) v{9)
300.15 15.
0.54212 0.
ac
#Freq vdb (4)
1.X -6.7857n

>

v(2) v(3) v(4)

0.78865 0.61674 22.694p

vdb (8)
40.143

v{5)

~-12.878

v(5)

-12.875

v{6)

-15.

v{6)

-15.

v(7)

~13.60

v(7)

-13.54



